o
)

=) u : :
e E : :
(O JST:I SERERE P B FEPRERRS it e
S C : .
SRV S S N SR R e
\% E : .
0.05fF -+ peefriseeeees Broeeeedeeed | R
OF -+ irprogrieees R 1|
0 X01s| SERRR P T RS ST & | B
L5 RS L O S S | .
SECJPT: ISR RSP SO S 11
.9_0. ;....!....!....!....!....!....
5 1sb |- AR |
o E 1 | .

O i

1

2

3

TP n (PCA to beamline)

< o cot(y) >
o
=
a1

A -

0 1

2 3

TP n (PCA to beamline)

—=— DQM_mKFit_TT_base
—e— DQM_mKFit_TT_retrain_noCandDNN
—+— DQM_mKFit_TT_retrain

100r

< 00, > (M)

|
[e2]
o
[T rrrre

.....

.....

.....

%

1=
w
N :

-1

0 1

2

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio
N

1
44

5 H 44
4 - -4 -

il !

] - 1

1. - ITe] i

L ! g

L QLI L] AN

RS AP | N - 44

. 5

e

-2

|
w

-1

0 1

2

3

TP n (PCA- to beamline)

<od,> (um)

(=)

[¢V LALAN RARAN RRRRN AL

0 1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


